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QUESTION 1

Assume a BIG-IP has no NATs or SNATs configured. Which two scenarios are possible when client traffic arrives on a
BIG-IP that is NOT destined to a self-IP? (Choose two.) 

A. If the destination of the traffic does not match a virtual server, the traffic will be discarded. 

B. If the destination of the traffic does not match a virtual server, the traffic will be forwarded based on routing tables. 

C. If the destination of the traffic matches a virtual server, the traffic will be processed per the virtual server definition. 

D. If the destination of the traffic matches a virtual server, the traffic will be forwarded, but it cannot be load-balanced
since no SNAT has been configured. 

Correct Answer: AC 

 

QUESTION 2

Which two statements are true about NATs? (Choose two.) 

A. NATs support UDP, TCP, and ICMP traffic. 

B. NATs can be configured with mirroring enabled or disabled. 

C. NATs provide a one-to-one mapping between IP addresses. 

D. NATs provide a many-to-one mapping between IP addresses. 

Correct Answer: AC 

 

QUESTION 3

Given that VLAN fail-safe is enabled on the external VLAN and the network that the active BIG- IP\\'s external VLAN is
connected to has failed, which statement is always true about the results? 

A. The active system will note the failure in the HA table. 

B. The active system will reboot and the standby system will go into active mode. 

C. The active system will fail-over and the standby system will go into active mode. 

D. The active system will restart the traffic management module to eliminate the possibility that BIG-IP is the cause for
the network failure. 

Correct Answer: A 

 

QUESTION 4

Which two statements are true concerning the default communication between a redundant pair of BIG-IP systems?
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(Choose two.) 

A. Synchronization occurs via a TCP connection using ports 683 and 684. 

B. Connection mirroring data is shared via a TCP connection using port 1028. 

C. Persistence mirroring data is shared via a TCP connection using port 1028. 

D. Connection mirroring data is shared through the serial fail-over cable unless network fail-over is enabled. 

Correct Answer: BC 

 

QUESTION 5

Which statement is true concerning the default communication between a redundant pair of BIG-IP devices? 

A. Communication between the systems cannot be effected by port lockdown settings. 

B. Data for both connection and persistence mirroring are shared through the same TCP connection. 

C. Regardless of the configuration, some data is communicated between the systems at regular intervals. 

D. Connection mirroring data is shared through the serial fail-over cable unless network fail-over is enabled. 

Correct Answer: B 
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